
ST. LAWRENCE HIGH SCHOOL 

A JESUIT CHRISTIAN MINORITY INSTITUTION 

 

                        

                                   

STUDY MATERIAL-7  

    SUBJECT – MATHEMATICS 

1st   term 

 
Chapter:  Trigonometry                                                 Class: XI  

     

Topic:  Trigonometric Identities                              Date:  25.06.2020 

 

 

 

 

Trigonometric Ratios and 

Identities  

(Solved MCQs – Set 2) :-  
 

 

 

 



 

    

                  

 

 



 

        

      

 



 

 

 

 

 



 

 

 

              -:SOLUTIONS:-         

                   Next Page      

 

 



 

       

 

            



Chapter 2 | Trigonometric Ratios and Identities 
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